
U5 L2-2 Inequalities Using Addition and Subtraction 7.EE.4b 

DR 

NAME _____________________________________  DATE _______________________ PERIOD _______ 

Directions:   If given the inequality, solve and graph the solution set.  If given the graph of the solution set, write a 
possible inequality.    

Inequality Graph 

a +  5 ≤  13  

 
        
        

            -1           0            1           2           3             4            5   

m –  9 <  −4  

 
        
        

             1           2            3            4           5            6            7   

−1 +  b ≥  10  

 
        
        

           -1            0            1            2           3            4            5   

16 <  n − 2  

Decide if the following solution is correct or incorrect. Justify your answer. 

𝑥 −  2
1

3
≤ 13

1

3
 

        
        

           12          13          14         15         16          17         18   
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ANSWER KEY      (All answers may vary.) 

 

Inequality Graph 

a +  5 ≤  13 
a ≤ 8 

        
        

             5           6            7            8           9           10         11   

Answers will vary. 
x ≥ 2 

        
        

            -1           0            1           2           3             4            5   

m –  9 <  −4 
m < 5 

        
        

            2           3             4            5           6            7           8   

Answers will vary. 
x > 4.5 

        
        

             1           2            3            4           5            6            7   

−1 +  b ≥  10 
b ≥ 11 

        
        

             8           9           10         11          12         13          14   

Answers will vary. 
x < 2 

        
        

           -1            0            1            2           3            4            5   

16 <  n − 2 
18 < n 

        
        

            15         16         17          18         19          20         21   

Decide if the following solution is correct or incorrect. Justify your answer. 

𝑥 −  2
1

3
≤ 13

1

3
   

        
        

           12          13          14         15         16          17         18   

x ≤ 15 
2

3
  

 
The graph does not represent the correct solution to the inequality.  The circle 
should be closed, instead of open.  

      


